









# Maximum likelihood estimation for MRF



 Count: the number of times that configuration x<sub>V</sub> is observed is defined as:

$$m(x_V) \equiv \sum \delta(x_V, x_{V,n})$$

• And marginal count for clique C :

$$m(x_C) \equiv \sum_{x_V \setminus C} m(x_V)$$













## Maximum likelihood estimation for MRF



• The derivative of the log likelihood

$$\frac{\partial l(\theta, D)}{\partial \psi_{C}(x_{C})} = \frac{m(x_{C})}{\psi_{C}(x_{C})} - N \frac{p(x_{C})}{\psi_{C}(x_{C})}$$

• Set it to zero, we obtain:

$$\hat{p}_{ML}(x_C) = \frac{1}{N}m(x_C) = \widetilde{p}(x_C)$$

- An important property of MLE of MRF
  - For each clique *C*, the *model marginals*  $\hat{p}_{ML}(x_C)$  must be equal to the *empirical marginals*  $\widetilde{p}(x_C)$









![](_page_8_Figure_1.jpeg)

![](_page_9_Figure_0.jpeg)

#### Two properties of the update equation

• From the update equation, we can get:

$$p^{(t+1)}(x_{C}) = \frac{Z^{(t)}}{Z^{(t+1)}} \widetilde{p}(x_{C})$$

The marginal of updated clique C is equal to its empirical marginal

$$p^{(t+1)}(x_C) = \widetilde{p}(x_C)$$

The normalization factor Z remains constant

$$Z^{(t+1)} = Z^{(t)}$$
$$\Rightarrow p^{(t+1)}(x_v) = p^{(t)}(x_v) \frac{\widetilde{p}(x_c)}{p^{(t)}(x_c)}$$

## The relationship between MLE and KL divergence

![](_page_10_Figure_1.jpeg)

• MLE  $l(\theta, D) = \sum_{n} \sum_{x_{v}} \delta(x_{v}, x_{v,n}) \log p(x_{v} | \theta)$  $= \sum_{x_{v}} m(x_{v}) \log p(x_{v} | \theta)$  $= N \sum_{x_{v}} \widetilde{p}(x_{v}) \log p(x_{v} | \theta)$ • KL divergence<sup>x\_{v}</sup> $D(\widetilde{p}(x) || p(x | \theta)) = \sum_{x} \widetilde{p}(x) \log \frac{\widetilde{p}(x)}{p(x | \theta)}$  $= \sum_{x} \widetilde{p}(x) \log \widetilde{p}(x) - \sum_{x} \widetilde{p}(x) \log p(x | \theta)$ 

 Maximizing the likelihood is equivalent to minimizing the KL divergence

![](_page_10_Figure_4.jpeg)

![](_page_11_Figure_0.jpeg)

#### Generalized Iterative scaling (GIS)

![](_page_11_Picture_2.jpeg)

• Constraints:

$$f_i(x) \ge 0, \sum_i f_i(x) = 1$$

Update equation

$$p^{(t+1)}(x) = p^{(t)}(x) \prod_{i} \left( \frac{\sum_{x} \tilde{p}(x) f_{i}(x)}{\sum_{x} p^{(t)}(x) f_{i}(x)} \right)^{f_{i}(x)}$$

• Update equation of IPF

$$p^{(t+1)}(x) = p^{(t)}(x) \frac{\widetilde{p}(x_C)}{p^{(t)}(x_C)}$$

![](_page_12_Figure_0.jpeg)

![](_page_12_Figure_1.jpeg)

![](_page_13_Figure_0.jpeg)

![](_page_13_Figure_1.jpeg)

![](_page_14_Figure_0.jpeg)